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Multiple Choice Questions ( 1 mark each ) :-
1.Which of the following is to be increased for reducing the Specific Energy Consumption ?

A)Train Resistance C) Distance between Stations
B)Maximum Speed D) Average Speed ( C )

2.The Unit of Acceleration is ......co.eieierianens .
A)Km per Hour C) Km per Hour per Hour
B) Km per Hour per second D) Km per second { B )

3. Which of the following motors have highest Maximum Starting Torque ?

A)Shunt motor C) Compound Motor
B)JAC Motor D) Series Motor (D)

4. In which motor Reverser is used in traction motor ?
A)Shunt motor C) Synchronous Motor
B)AC Motor D) Series Motor ( B }
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Attempt any two questions ( 5 Marks each ) :-

1. What is tractive force of a train ? Derive the expression for tractive force of an engine
moving an inclined surface with uniform acceleration.
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2. Compare the use of DC series motor and AC series motor in electric traction.
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3. Write the names of motor used as traction motors. Why DC shunt motor is not good for

traction purpose ? Explain .
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